Radicals Worksheet

Evaluate the Perfect Squares
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1. Simplify the following.
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2. Find the value of the following.
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3. Convert the following entire radicals to mixed radicals in simplest form.
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4, Simplify the following.
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5. Simplify the following.
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6. Convert the following radicals to mixed radicals in simplest form.
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. Simplify the following.
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8. Simplify the following.
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§. Convert the following mixed radicals to entire radicals.
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Evaluate the Perfect Cubes
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1. Evaluate the following.
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2. Simplify the following. (mixed radical in sirﬁp]est form where possible) |
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3. Convert the following mixed radicals to entire radicals,
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4. Simplify the following. (mixed radical in simplest form where possible)
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Radicals & Variables

I.  Simplify the following.
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2. Simplify the following. (mixed radical in simplest form where possfble)
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3. Simplify the following. (mixed radical in simplest form where possible)
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4. The square root of large numbers
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